oo ogond
0220 0JO00O0DOO0OOO0O0O0O (2)

20080 10 130

0 DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD__DDDDD[:j
00000000

gbooobooooooboboooooboboobbboobodouoooobobooobbooboaogda

gbboboooooooooo

gbooboooboobobouoobooooooobooboooooao obooboooooo

gooagbogooobdaod

TC; = 2500 + 100, (t=1,---,30)

0000000 U00OO0O0O0ODO0OO0OO0OO0OO0 ¢t=31310)00000O0O0OO0O Ot=35
(30)00000DoOoooOoooo ooooood
gboobooooboooobobobbooooboboobooboonn gbooobooooogoo

gogbobboduooboodoobooboboooooobooo

00000000000 ooooo
OD0000 |19960 | 19960 | 19960 | 19960 | 19970 | 19970
ooo 257 258 263 326 282 245
400000 (@) | 28225 279
00000 (O0) | 280.625

DDDDDDDDDDDDDDDDDDDDDDDDD

257 + 258 + 263 + 326
1 =

goboobogboboobobogboabd

= 282.25

O0000000000000000000 DDDDD

+282.25

gooo



